JL_

Matching Lines Name:
Match the description on thetop with the visual image on the bottom. Answers
— —>
1) AC pardlel to EB
1.
2) BA intersecting AD
2,
3) Acute «BED
4) AD intersecting BC at point E 3
5 BE intersecting CD 4,
6) AC intersected by BD 5
7) «BAC creating an obtuse angle
6.
8) BC intersecting ~ACD
“«—> . ——> 7.
9 AB intersecting AD
8.
10) Acute LABC intersecting AD
11) /DEC intersected by AC 0.
12) AC perpendicular to AD 10.
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C:h Matching Lines

Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
— —>
1) AC pardlel to EB
1 F
2) BA intersecting AD
2. E
3) Acute «BED
C
4) AD intersecting BC at point E 3
5 BE intersecting CD 4 A
«— —
6) AC intersected by BD 5 J
7) «BAC creating an obtuse angle D
6
8) BC intersecting ~ACD
77 B
+“— +“—
9 AB intersecting AD
. . 8. |
10) Acute ZABC intersecting AD
11) /DEC intersected by AC 0. K
12) AC perpendicular to AD 0. G
[ o
A. B. C. D. 11. H
JA B c, . B
>< e L
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N
E. F. G. H.
A A Bt A“ A B C
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JL_

Matching Lines Name:
Match the description on thetop with the visual image on the bottom. Answers
1) Right ZADE
1.
2) D asthe midpoint of CE
2.
3) Acute «BED
4) AB intersecting AD 3
5) Acute «BDE 4.
6) AD intersecting BC at point E 5,
+“— +“—
7) AB paralld to CD .
8) AB intersecting ~BCD at point B
«— . «— £
9) AC perpendicular to AD
8.
10) AE intersecting DB
11) BB intersecting /ACE 9.
12) BA intersecting AD 10.
@
A. B. C. D. 11.
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JL_

Matching Lines Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
1) Right ~ADE
1 L
2) D asthe midpoint of CE
2 G
3) Acute «BED
J
4) AB intersecting AD 3
5) Acute zBDE 4 |
6) AD intersecting BC at point E 5 D
+“— +“—
7) AB paralld to CD E
6.
8) AB intersecting ~BCD at point B
7 F
+“— +“—
9) AC perpendicular to AD
«— . . «—> 8. A
10) AE intersecting DB
11) BD intersecting ZACE o. _ B
12) BA intersecting AD 0. K
[ o
A. B. C. D. 1n. C
3 [ 3 A
2. H
B C D I B I ow D E
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C:h Matching Lines

Name:
Match the description on thetop with the visual image on the bottom. Answers
1) AB intersecting AD
1.
2) Acute «.BED
__ 2,
3) BE intersecting CD
4) /BAC creating an obtuse angle 3.
5) D asthe midpoint of CE 4.
6) BC intersecting ~ACD 5
7) AC intersected by BD 3
8 AC perpendicular to AD
7.
9) AB intersecting ~BCD at point B
8.
10) AC parald to EB
11) /DEC intersected by AC 0.
. . +“—
12) Acute ~ABC intersecting AD 10.
[ o
A. B. C. | D. 11
A B Q N A B
C D 5 12.
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C:h Matching Lines

Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
1) AB intersecting AD
1. C
2) Acute «.BED
__ — 2. _J
3) BE intersecting CD
4) /BAC creating an obtuse angle . _A
5) D asthe midpoint of CE 4 H
+“—> . .
6) BC intersecting ZACD s B
7) AC intersected by BD 3 |
8 AC perpendicular to AD
7 F
+“—
9 AB intersecting ~.BCD at point B
g. K
10) AC parald to EB
11) /DEC intersected by AC o D
12) Acute ~ABC intersecting AD 0. G
[ o
A. B. C. . D. 11. L
A B Q N A B
fcj <‘Df . . E
£ 3 C D E T ‘;D B C D
E. F. G. H.
[ 3
A B A Bt
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D B C
D =
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C:h Matching Lines

Name:
Match the description on thetop with the visual image on the bottom. Answers
+“— +“—
1) AB parale to CD
1.
2) BA intersecting AD
2,
3) BC intersecting ~ACD
4) AB intersecting AD 3
5) Acute «.BED 4.
6) BE intersecting CD 5
7) Right ~ADE
6.
8) «BAC creating an obtuse angle
. N 7.
9 AC pardle to EB
__ 8.
10) AC intersected by BD
11) D asthe midpoint of CE .
12) ,DEC intersected by AC 10.
[ o
A B. C D. 1
A Bt . ) A '
A < > < A B
= C D >< 2
C A
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v
E F. G H.
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ﬂh Matching Lines Name. Answer Key

Match the description on thetop with the visual image on the bottom. Answers
+“— +“—
1) AB parale to CD
. G
2) BA intersecting AD
“«—> 2. D
3) BC intersecting ~ACD
4 K7 . «— 3 A
) AB intersecting AD
5) Acute «BED 4 K
_— . . <+“—>
6) BE intersecting CD s E
7) Right ~ADE |
6.
8) «BAC creating an obtuse angle
7 J
— —>
9 AC pardle to EB
«— . — 8 C
10) AC intersected by BD
11) D asthe midpoint of CE . B
12) ,DEC intersected by AC 0. L
@ L J
A B C D. 11 F
A
. A8 )
- - - A B
- 5 2. H
= @48 A
E F G. H.
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C:h Matching Lines

Name:
Match the description on thetop with the visual image on the bottom. Answers
1) «BAC creating an obtuse angle
1.
2) AB intersecting AD
2,
3) Right LADE
4 BA intersecting AD 3
5 AD intersecting BC at point E 4.
6) BD intersecting CE 5
— —>
7) AC paralel to EB 3
8) AB paald to CD
7.
9 BC intersecting ZACD
8.
10) AC perpendicular to AD
11) Acute ~BDE %
12) AC intersected by BD 10.
[ o
A. B C. D. 1.
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12.
B[
D - -
s =
v v
E. F G. H.
A 81 A 4
N > s N A B
C D >< D
A
B C —_— .
E S MRS o
. J K. L.
A A 4
B < o
A “1= 8 N A B
c
D;' E D £ < Ic B — "D
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




JL_

Matching Lines Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
1) «BAC creating an obtuse angle .
1
2) AB intersecting AD
2 H
3) Right LADE
I
4 BA intersecting AD 3
5 AD intersecting BC at point E 4 L
6) BD intersecting CE s A
7) AC pardlel to EB
par 0 . G
8) AB paald to CD e
7
9 BC intersecting ZACD
g. K
10) AC perpendicular to AD
11) Acute «BDE 0. B
12) AC intersected by BD 0. D
[ o
A. B. D. 1. J
B 3 [ 3 —
A A “Ta <
2. C
B
D - -
s =
v v
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C:h Matching Lines

Match the description on thetop with the visual image on the bottom. Answers
1) BC intersecting ZACD
1.
2) Right ZADE
2,
3) AC padld to EB
4) AB pardle to CD 3
5 AE intersecting DB 4,
6) AD intersecting BC at point E 5,
7) AC intersected by BD 3
8) Acute /ABC intersecting AD.
7.
9 BD intersecting ~ACE
8.
10) D asthe midpoint of CE
11) AC perpendicular to AD S
12) BE intersecting CD 10.
[ o
A. B C. D. 11
3 [ 3 IA
< = 2 > A A B 'ﬁ
B‘ C., C D 12.
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v DU 4 D\
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JL_

Matching Lines

Name:

Answer Key

Match the description on thetop with the visual image on the bottom. Answers
1) BC intersecting ZACD
1 H
2) Right ZADE
— —> 2. G
3) AC pardle to EB
K
4) AB pardle to CD 3
5 AE intersecting DB 4 A
6) AD intersecting BC at point E 5 L
7) AC intersected by BD 3 |
8) Acute /ABC intersecting AD.
7. E
+“—
9) BD intersecting ~/ACE
8 B
10) D asthe midpoint of CE
11) AC perpendicular to AD o. _ D
12) BE intersecting CD 0. J
[ o
A. B. D. 11. F
3 [ 3 IA —
“1x > A A B 'ﬁ
B
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C:h Matching Lines

Name:
Match the description on thetop with the visual image on the bottom. Answers
1) BD intersecting /ACE
1.
2) AB intersecting AD
3) BC intersecting ~ACD
4) AB intersecting ~BCD at point B 3
5 AB pardlel to CD a
6) Acute ,BED 5
7) Right ZADE
6.
8) BA intersecting AD
7.
9) «BAC creating an obtuse angle
10) Acute ~BDE ’
11) BD intersecting CE S
12) AC intersected by BD 10.
[ o
A. B. C. D. 11
A A
B B A C—
A \ A B
12.
b ) \ E, 1o
) v D\ - ¢ v B ¢ D
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‘f _ A B C_
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C:h Matching Lines

Name. Answer Key

Match the description on the top with the visual image on the bottom. Answers
1) BD intersecting /ACE B
1
2) AB intersecting AD
2. K
3) BC intersecting ~ACD
H
4) AB intersecting ~BCD at point B 3
5 AB pardlel to CD s D
6) Acute «BED 5 L
7) Right ~/ADE
g . G
8) BA intersecting AD |
7.
9) «BAC creating an obtuse angle
C
10) Acute ~BDE 8
11) BD intersecting CE 9 J
12) AC intersected by BD 10 E
[ o
A. B. C. D. 1. F
B 5 “A A _—
A '\ — 8
2. A
> . \ E, b
) v D\ - ¢ v B ¢ D
E. F. G. H.
‘f _ A B C_
) S (! N > A
D B e
[ E—) < ) E:
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C:h Matching Lines

Name:
Match the description on thetop with the visual image on the bottom. Answers
1) AD intersecting BC at point E
1.
2) AC padld to EB
2,
3) D asthe midpoint of CE
4) AC intersected by BD 3
5 BE intersecting CD 4,
6) BC intersecting ~ACD 5
7) «BAC creating an obtuse angle
6.
8) Acute /ABC intersecting AD.
7.
9 AB intersecting AD
8.
10) BA intersecting AD
11) AB parald to CD S
12) Right LADE 10.
[ o
A. B. C. D. 11
A 81 A 5 B A
< > A A < N ) >
C D C 12
D - -
E D E Ml (@ D
v v
E. F. G. H.
L3 [ 3
A 1= 8 .
> X -
v v
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3
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C:h Matching Lines

Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
1) AD intersecting BC at point E K
1
2) AC padld to EB
3) D asthe midpoint of CE
__ I
4) AC intersected by BD 3
5 BE intersecting CD 4 C
6) BC intersecting ~ACD 5 J
7) «BAC creating an obtuse angle =
6
8) Acute /ABC intersecting AD.
«— . . «— 7. E
9 AB intersecting AD
g. H
10) BA intersecting AD
11) AB parald to CD 9 L
12) Right LADE 0. G
[ o
A. B C. D. 11. D
A 81 A 5 B A
< > A ¢ A < ) >
A . B
c D c
D - -
E D E Ml (@ D
v v
E. F G. H.
L3 [ 3
A 1= 8 :A
>A< B[ C c
v v
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3
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B
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JL_

Matching Lines Name:
Match the description on thetop with the visual image on the bottom. Answers
. . <=
1) D asthe midpoint of CE
1.
2) AF intersecting DB
2,
3) AD intersecting BC at point E
4) Acute «.BDE 3
5) «BAC creating an obtuse angle 4.
6) Right ~LADE 5
7) BC intersecting ~ACD 6
8) AC intersected by BD
7.
9 Acute /ABC intersecting AD
8.
10) BD intersecting ~ACE
11) AB parald to CD S
12) ,DEC intersected by AC 10.
[ o
A. B. C. D. 11
A“ 3
< N ) >
B R 12.
B C| D
D & E “Ic 5>
v v
E F. G H.
[ 3
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JL_

Matching Lines Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
. . <«
1) D asthe midpoint of CE -
1
2) AF intersecting DB
«— «—> 2. B
3) AD intersecting BC at point E
4) Acute «.BDE 3 K
5) «BAC creating an obtuse angle 4. A
6) Right ~ADE 5. |
7) BC intersecting /ACD G
6.
8) AC intersected by BD
7 C
+“—
9 Acute ZABC intersecting AD
s. E
10) BD intersecting ~ACE
11) AB pardle to CD o. _ H
12) ,DEC intersected by AC 0. L
[ o
A. B. C. D. n D
A“ 3 -
< N ) >
) . 2. J
B c| D
D E E “Ic 5>
v v
E F. G H.
[ 3
— A .Z_.,
B C
D
C D E D
v
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B C F . E
D
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JL_

Matching Lines Name:
Match the description on thetop with the visual image on the bottom. Answers
1) AB intersecting ~.BCD at point B
1.
2) AC padld to EB
3) AB paralld to CD
4) Acute «BED 3
5 AC intersected by BD 4.
6) Right ~LADE 5
7) Acute /ABC intersecting AD. 3
8) BD intersecting ~ACE
7.
9 AC perpendicular to AD
8.
10) ,DEC intersected by AC
11) BA intersecting AD S
12) AE intersecting DB 10.
[ o
A. B. . C. D. 1.
A B C 'ﬁ A . B N B
\____/ 12.
D [ E \ c
F - s b D¢
v D\ v E
E. F. G. H.
3 L3 3 L3
~ ~ ~ ~ A
A cl A B
“B c[ o
“T B “Ic 5> B G D E
v v v v
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JL_

Matching Lines Name. Answer Key
Match the description on thetop with the visual image on the bottom. Answers
1) AB intersecting ~.BCD at point B G
1.
2) AC padld to EB
«—> «—> 2. I
3) AB paralld to CD
4) Acute «BED 3 F
5 AC intersected by BD 4 J
6) Right ZADE s C
7) Acute /ABC intersecting AD. 3 D
8) BD intersecting /ACE
7 K
+“— +“—
9) AC perpendicular to AD
g. B
10) ,DEC intersected by AC
11) BA intersecting AD o. _E
12) AE intersecting DB 10. A
[ o
A. B. . C. D. n L
A B C ,{A . B N B
\____/ 2. H
D [ E \ c
F - s b D¢
v D\ v E
E. F. G. H.
3 L3 3 A“
“T1A S “T1A 30
“B c[ o
“T B “Ic 5> B G D E
v v v v
. J. K. L.
B A 81 R A B c AH B 3 A
- - : - A B
c D g —>
D E [
E DU v
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